ECE 320: Quiz#3 Name

Ideal Diodes, LEDs, Clipper Circuits - September 15, 2016

1) Assume ideal silicon diodes (Vf=0.7V). Determine the currents I1, 12, I3, and 14
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2) Assume ideal silicon diodes (Vf=0.7V)

. Determine the currents 11, 12, 13, and 14
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3) Assume an RGB Piranah LED with the following specifications

Red Green Blue
V@ 20mA 1.9V 3.0V 3.5V
mcd @ 20mA 8,000 8,000 8,000
Find Rr, Rg, and Rb so that the LED outputs dark purple
+ Red =06039 mecd
+ Green = 1528 med
Blue = Omed
Rr (6039 mcd) Rg (1528 mcd) Rb (0 mcd)
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4) Design a clipper circuit to impliment the following function
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5) Design a circuit to limit the output to +8V and -2V

+8V Vip > 8V
Vouf = Vin _2V< Vin < +8 V
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Bonus! Does income inequality exist? Rank the following from most to least:
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Total net worth of the 16 million black Americans = lo g & {;?

Total net worth of the 400 richest people in the U.S.
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